M-6P G-Ma\ P\/\Usic; V\)Qe,](, 177 L*/zz

¥ 3—/“‘“,‘“ ?v'\&%'—‘ 8\43
ez

- 0.3l
C,Mw
. Dscs :‘l' W\a"f:?.
= F al ‘F,p Z’>
de— JI:A 3) s whach ot
boccelaration?

A Dt [~ pm mé)
AR
(8\‘5)(’0,'8“4/6@)(5\; ‘fo>+ (- 6_3\)(3%)&7_3 ""/3")((63 L/b)
o~ . ~N—
— 54N + 18N = \—3\.8N2

e :r—t-,. "3\8[\/ - - qgm_,_‘
F-wma A%—/,?LZ)_LS_ /S‘/




L inear Morvww‘lvm ow\aQ CollisCns

rﬁé_‘ﬂ_ 'C““’-_ Newhon s 394 Ly
é’«jwl f aﬂoas-‘lz

/\/koww%m (s C_m;ervd [ eaehim.

W"\/M = MASS K \IQ—(oc.z;%

[0 = mv) €= o
\(,3""\/5 Ej”?/s \cﬂ g

f\}’ 0 000 OO0
1A
11k 6%@009
MmN =MV, \/'=\7_8M/3

W,
m\, (‘53(0(50‘6‘»(\7 am| >f_ 1577'"/

Vot L T ks 27,000 * /by




D.650 \oj wllet  davels oF 15D0%/
w\,«ct-v} The VVl/l)W\-Lm‘/\/m?

/0—— mV
7[0050%}[/@0% = 76% M/g

t - —
N& 7’74(43 }r’

\I‘L b

A \]( ;W\Z\}Z_
. T W,
\/7,’— /V\:‘\;L‘ - [O‘OS%>( 15})0'\\’3 ~18.9F5 M/S‘
7‘1%
A\O \NM’\’\A«Oj Mass = Mfss'ntp_ YWbrs = ‘z‘éo /L
24,000 \bs — paissi e Ve(w?é‘-
[1SD km
\/b\oc': N 70&’ o L, /\f
\ M‘ N '\_A_f“_.\fz:
raww_% M, Mo
¢ = Y (4010 )
M, T A
Job— v, 29060

’Iols—lz‘“”?/kr'- (’82(“/; & bw/w



MlL_ Tjgmls L‘t \Lj ‘Ed‘ —-l-ﬁwelg m‘l’ 4 M/S-_ wL«_’_

| "74 , R
\,;, Nﬁ-tzs ;he_sul-l'\%, \f(',l.oa ;‘F Tjsm

PVVLOLLS (n,;m ‘A L,‘; SNF'\J/ S}ufic( 7&&7
Ploce assime NG s heed reymsc, A/’Iéf-lle/

t heos éoo{y i
Nﬂt ’??S’\_
M, N, - M'LUZ_
Ty =

y o~ MV (4@(%M©JUZM/S/
| M‘ /%4 |Cj

1 < Fat
d 1
e o

IMPV‘::C, ”,;(::

Curve




Which s wirse? ([mpulse)

HO‘OL'I'{—
GY0) s — &lb»

————

H: HALL:’{’ WC“on\\)uu
-E:.( lbmw»t.,

T -
l (o -

A’L\J\rt ’H’\'— é"“""%
5?2_0 lLS-—a 236 léﬁ

I‘F A’I\AIL—% émj
S\LG\'\)L\) CJC\" s jau

[ (&3L\<3>(ﬂ-3"”/5‘>

(25)2.8 f\f>

Trismale area
/«V\O

L b







